TER271EE Fe8REBHTRABTRAEELFERXS
#AH:20154 108128

BFiRME—

RS EIGTHA B OES N ERE RIS
HH FEAE] 147 201 3fi1 41 5{i1 641 141 8{s
y INRERF | EREEI) 18739|F HiH A BR(1) 18”44|BE EB#(1) 1972580 &=H() 21788| &k (1) 22"18|f# B E&FQ) 2278948 (1) 24”08
10/12 100m
-03 EISFERE KiEHTHD =] H£EEE  EISTERE TALFY Y = i A HEE
INREBF (K FEHQ 16”31|[REA 1&X(2) 16”87/ kKR K (2) 17702|# 1L BAX(Q) 17769[)I1& FH(2) 18735(#% EZ2MN(2) 18736| =8 F#&(2) 18741 A Z N (2) 18779
10/12 100m -0.8 -0.8 -0.8 -2.8 -0.8 -0.8 -0.8 -0.8
EREFEN gy 2 = i) TALFYY B i Fithy 1=y INMRERTC EISFEEEE FEithy 1z
INPAEBF  [2TAFTS54V(4)15720|)11#8 thE4) 15780[#Fdt —iDv4) 15783[E—32—XR(4) 15798} T @) 16703[AVE & (4) 16732|iE#8 ERA) 16740( L AR L BA4) 16756
10/12 100m +3.1 -3.3 -33 +3.1 -33 -33 +3.1 -3.3
ADIERE Foithy 2=y I AERT Ak DIEkEE IS AIERT R~ IMABRTC EUFAET R B AT R
INEIEBF  [hRE—1EQ) 14774|88  Z17(3) 167172 1L &EZE®Q) 1676945 BEFH(3) 16”79[;&7K &) 16785k & HF(3) 17717 %] B 17728|#7H E1%03) 17740
10/12 100m +0.0 +0.0 +0.8 +2.0 +0.8 +0.0 +0.8 +0.0
Bt 17 Faith a7 Al b ADFERELE AUERE E TALFYY B i Kighdhs BT
INESERF  [RR BEOG) 14”08|&[E B H(5) 14762[#2 A 1&#(5) 14763[5F/K EKR(G) 15721(¥EA #HTO5) 15733[# 40 BK(5) 157391E/k SLiR0G) 15739(J1[i EE 3[(5) 15752
10/12 100m +0.0 +0.0 +0.0 +0.0 +0.0 +0.0 +0.0 +0.0
ﬁnE_-EJ: 1] TA! —p a)-.E_-gJ: ?’:J: ﬁnﬁzi '—HDE?’:J: =1 7xl_|‘ /17
INEOERF IS ENEUIG) 13744 ﬁzkijtﬁn(s) 13787 H Iﬁﬁéﬁa‘(e) 13794[{H E 5&(6) 14"33|=1E E%(6) 14"36| % Ih==(6) 14748|7Z A Hth(6) 14"57| 2K ,i<(6) 14772
10/12 100m -0.8 -0.8 -0.8 -0.8 +0.3 -0.8 +1.7 ) -0.8
EUSFEEE EHUSABTR)-b  REREE TALFYY B i __KEHITLES Kighdisd _ ADTEREE Pt sy
INP4-5-6BF |AERELE 57765 KDIERE LA 58763| B TERE LA 58778 ZIE AT RY-FA  59724| = I5FEFE LB 59"53| KiEH T 45 59756| S GATAY-FB 100742| KDEELB 103730
AR BER(5) TEH BK(EG) B F—(6) Nl #E(6) Fiip BK(5) BB Ih3E(6) Fdb —ib@4) JIIJ'%E &(5)
10/12 4x100mR| ik FEE(6) FAHE ) Wi EeR(6) EE EH6) ER BHE®) HE EE6) #iE B AO) E—52—X1R(4)
R 154(6) AK BEAR(G) R ZREG5) A =h(e) JEHE th¥E®G) =15 2X06) FO dEAG) N%EE,MEM)
2 H Eat6) 2H {EHG) #in] 185 (5) EpN:H(D) FRB LS E(5) SiE Fih4) 1Bk FG) STARTSA4Y(4)
INES-6FBF ALY E®G)  507741[;FK BEAKR(EG) 5'14"88| /1L Eh(6) 519"56| & E BALG) 5'22"00| %% BEZ(6) 525"19|& ] #&EAG) 5'26"26|J11# #iF(6) 5'28" 49|81l [ZK(5) 529745
10/12 1500m
EISFEREE AlgRE + B WS AT RY—b EUSER/N AR EUSAERT R )b AT R+ EIFERE
REIEREF (WA EBFRO0) 11783[ith T~ finFnd1) 12713[RA &) 12715\ /K BN 12°70|FA #hREI() 12788(A 0 @\iIEX) 12795(|=#F RfR(1) 13713 AR (1) 13715
10/12 100m -0.2 -0.2 -0.2 -0.2 -0.2 -1.0 -0.2 -1.0
_EAMES [LE = P =AM AfEH Xizdh = A= Nz =R
REERF |RAEKEN2) 12705[/NE FAIR () 12713[IuA 1&E©2) 12724|%  fK(2) 12727 K& K ER(2) 12730[)11# ZE&(2) 12737|2XK B2 127452 FMR(2) 12748
10/12 100m +1.3 +0.5 +1.3 +1.3 +1.3 +1.3 +1.3 +0.5
FES Xigeh FriT #&Eep A % = P
REIEEF |G BEQ) 10798|RE FEZI(3) 11747[8h % IER®M) 117480 MEAQ3) 11751|&%%E EKREA) 11760[[REA ZE#E(3) 11768 2& FEIR() 1178418 T #&(3) 11789
10/12 100m +4.4 +4.4 +4.4 +4.4 +4.4 +4.4 +2.3 +2.3
it a7 Sindgch Al H£HEG = = RS = 1= PN
TEREEF |[IIF BEQ) 22791|7 0O MEAN(3) 23"91;8F fnFn(1) 24734|/NE IR 24”50(5ht IESR(3) 24762|[RE E#E(3) 24764\ L3 EMNQ) 24775|Rith 4I3R(3) 24779
10/12 200m +0.3 +0.3 -0.7 -0.7 +0.3 N +0.3 +0.3 -0.7
Bty 17 _*HAE® [LAES __AigdH Algdh = [Ed A=k EA=R=
, #hHE *ﬁﬂz(z) 211751| B T4 4Q) 218"73|mALEIEQ)  2'23"84|#IlL  $(2) 2'26726[;BHE FE&EH(1) 229793 B REFIMER) 231709 FHFE EBI() 2'33727|#3k &) 2'34710
10/12 800m
L3 Jings e £HET L3t AEH Sinfg e = A=
x 22X02) 9'35”"55| A EHH(2) 9'35”92|FE EEQ) 9'48”08|HEF HEAM(3) 9'52"88|[El#k FH(3) 9'57730(FEAMEKER(2) 957785 EAB) 1000705\ R KMEAER(3) 1000718
10/12 3000m
FEH AfEg i AfEg Algdh EAEHES 4 BE&EG
2&3 BRI A 47709|EB A H 48794 hn#RhC 49" M |[L#AH 49758| KiFh 50728| = A /g o 51710 A C 51723|0fARA 51723
EH# F}ﬁ% WA B2 HHEEXKEAR) BHE 15502 INIT T5E(1) L S =2k BAR) INE 1ER(2)
10/12 4x100mR| KU XEB(Z) ARKIL (1) LI 46(3) M Fh(2) RAX BEQ) PR RMQ) ﬁﬁﬂlkﬁﬂm KE f2{HQ2)
NI E5(2) HFE EEQ ERE HIR) i @) a0 &E) BEAIERER(2) #E1) Ha‘r* E(z)
__ MK E1M2) Bh &2 AH HEQ) AT fHFE) INE FAR(2) BEH _R1) %Mkﬂ) R BEHQ
aREEEF |EB B3 10798[i% #RE(2) 11720|FNEREZ K (2) 11729|E@A #FQ2) 11745|7E EHKRQ2) 11758|J1I# HFE1) 11770[/Mk &E(1) 1177545 Kib(1) 11782
10/12 100m 430 430 430 430 430 430 +4.3 . H40
BISEE LTSS IS SISES
Al #32) 23709|FNEAEZK(2) 23"62|KiE  BE(2) 23"92|BEAR &R 23792|EE #iFE(2) 23795/ E(T) 24756| hE ErE() 25"55|B 8 E&(1) 25776
10/12 200m . +13 13 +3.1 13 . +13 +3.1 . A
= I 7 _ EIGEE ; EIEAES BIEXES EBAXES =y
ZEM M&(z) 18'19715|AT FwKR(Q2) 1934786
10/12 5000m
EBES HHOIEdRF

1/4




TER271EE Fe8REBHTRABTRAEELFERXS
#AH:20154 108128

BFREB—E

s EIETAE B OHEEAEREF RS
HH FEAE] 1L 201 3fi1 44 | 5{i1 641 141 8{s
EREEEF |EBAERA 45757\ EEES 46765 B K= =B 48”20
EA #FEQ2) IR GERA) NG BE@4)
10/12 4x100mR| 2H % K(2) XiE EQ i FEFEQ2)
BA &EX(1) EEm KA BE BE&k0)
{E5 Kih(1) Mg ED Il 30) __
, —RHEEEF |Ex £ 22779 =W HEE 24703|H5IE B0 24738 &K BT 25785
10/12 200m
+0.7 HFX 5PN TALTYY B IS =
#O £A 430"29|HF EX 432"82|A0 =R 759780[)IIiF Bz 8'06"66|HE NI 5 1005736
10/12 1500m
= % =1 5PN =T E HIEYRI-R EIEIRI-R
1HEA ik 902"75|2H RIE 9'02"98|FMA BE 9'16798|FIL = 917716\ T#8 R 9'30”46|FaFT E1E 9'31791| kAt — BB 9'50"79| RE—KA/—7> 953747
10/12 3000m
Eﬁ&ﬁﬁ G EE%* = J&E i = [ = i = :*: Emﬁl'%ﬁ: = E77\| -k
FHE BEF 15'48"94| 2 HIE 1554784 T =4 16'15"74|FA B&E 16'22739| FrE REH 16'25728|HEA &k 16'50"64|HiR E2Z 16'59720[4hE 1B 17'18753
10/12 5000m
HIEK EIFEREX HISEZLX = EIREEX HIBEEX =I5 R HEX
—RE2UTEF|BE St 10792(%85t IEFN 10796|E 78 K4t 10796|FkIL & 11726| A0 &8 11745\ =l MEE 11778|#if EBH 117811k EfE 12712
10/12 100m +2.4 +2.4 +2.4 +2.4 +2.4 +2.9 +2.4 +2.9
RTC HIFX RTC HIFX HiEK HIFX RTC =T
, —HRA0R A B F [l REE 12°16|IEMA #HE— 12780| & f@th 12796
10/12 100m
+2.0 IS T S AT Rk IS E T
—fR60LLEBF|®  BHE 19722
10/12 100m
+2.0 EIEVRE-R
INE56EBF [BIL Ethe) 1m31|[EO EAG) 1m20[;EE EF(6) 1m20|FRZE F#H(5) 1m10|3KE RH6) 1m05
10/12 =
= AY—F U AT R )b =5 - ALFYH IR TALTY) B IR
W B(s) 4m23|H % IRER(6) 4m10| KR BEE®) 4m10|E L EZ(6) 4mO09(¥EE #HFE(5) 3m79(|#K [EH(5) 3m73[[EE FRHG5) 3m70[f#A 1&E(5) 3m38
10/12 FE NS Bk +0.3 -0.1 +0.4 +0.3 +0.6 -0.2 -0.8 -05
EISFEEE gt a7 __ EISFEREF TALFYIE IR HiGFEELE IMAERTC _ IS FEE IS FERE E
1o/12 EP%‘“—?%E%}_EE il &) Tm71|fRA IEF(3) Tm62|AE KHH(2) 1m40|Fh#t &) 1m40|FAR BK(Q) 1m35 k& HEQ) 15? EH HEAQ 1m35|FE F#(2) 1m30
= m35
hngh e XiEd hngh e __R4eh £ Hd AdEich £Hd A S ch
WA EE0) 5m76| Rk B A() 5m68|BRA I F(3) 5m43[;ERY  FI(3) 5m23|#AAR FEiLN(2) 5mi4|FH L &H1E Q) 5mit{JI#E %2 4m85|AE FIK(Q2) 4m69
10/12 FE NS Bk -1.2 -0.2 -14 -20 -20 -14 +2.0 +1.0
= XMES xE _ KiEd Jnfg e A H£BEG R4 4B
_ HEE fEh(2) 10m34|RZBEANQ2) Im21| KT HEHQ) 8m56|)I| £ H#HQ) Tm67| I & E(2) 6m95|FkMA F&EE() 6mi4
10/12 %
£HEG =P A4 ch s fydan Sinfs e
) X5 ZEH(Q) 46m71|BHZE F£hH(2) 38m06| KT HE(©2) 32m90|FRZE ffEth(2) 31mol|EaEE FIR(Q2) 30m56
10/12|  Y'eAYyhA0-
. R A4 R4 H£BEG Kixdh
eRABEF |REDKEAM) 1m70
10/12 = Bk N
= Mo 5]
b= 10)) 6m38|5* A EHK(2) 5m87|imA EA(2) 5m20[ 71 KREX) Am72|3L AR EH) 4m56
10/12 ENERk +0.4 . *07 N +0.0 _ +06 _ +0d1
Rt S FIEAES AEE EIEEES EEEES
[32 5= 30)) 39m63|:5t] BEH(2) 39m61
10/12 PYE . -
EIFAES EIRE S
—BAEFF_[/MI B 1m56
10/12 EE
FALTY) E
Wi Bt 56m17
10/12 PYE
EUE7 )b

2/4




TER271EE Fe8REBHTRABTRAEELFERXS
#AH:20154 108128

TFRE—

s EIETAE B OHEEAEREF RS
HH FEd=] 14z 201 3fi1 41 5{i1 641 141 8{s
y INBIELZF | BRBBRH 197133 BH(1) 19722|)I1#8 3£28(1) 19”51|RE #3=(1) 19”75|@A LB D (1) 20713|4RkE EE®) 20"37|&= BB 20755| % BRERBF(1) 21745
10/12 100m
-0.6 =y REHdas =y tic] = e EE /s ALY EIE _ =L S EE ALy E I
INP2ELF 1ZEfEIilE %(2) 18746t BRA(2) 18”97 |Mi%E FZX(2) 19727\lLO RZ2(2) 19734\ RH EE(2) 19”37|18 B Z&74(2) 19738(pI+E  E(2) 19”39\ 2Bk ARE(2) 19769
10/12 100m -15 -15 B -15 -15 -14 -15 -4.7 -4.1
= i E£BETEN = EkEEE KEHTHES ALY B IMRERTC EUSFEEE E£BETEN
, INEIELZF  |[HEF AR 16”06|#115 &) 16732| ER7—R1—(3) 16751|Frch F#(Q) 17702 B B IRELE () 17722[i&:8 HK®A) 17731 RBE®Q) 17750/ 5 E&E@Q) 17757
10/12 100m -2.1 -2.1 -2.1 -2.1 -2.1 -2.1 -2.1 -24
Fiths 2=7 Paithy 2z AlEREE S pEE =I5 FERE A& Fithy a=7 ity a=7
, INBATELF  (FHE W@ 15"32|F R TEEW® 15792|EI% #E () 16”05|## 1L &< (4) 16709 FF B EF(4) 16”10| =% 17 (4) 16718[lLO B #0(4) 167221 K t£iB@4) 16723
10/12 100m -2.1 -2.1 -04 -2.1 -2.1 +1.6 -2.1 -2.1
EISFEEEE gt 127 ADIEREL EEEE ity 127 EUSAERT R )b AUgEEE ALY B i
INESELF (B FEROG) 14783(¥2H F1F(5) 15742(% #BEF(6) 15754 (LUK 5L NEN(5) 15756|#fA &) 15762|A S BH05) 15776|f87t B&E() 15780(lF A #H3(5) 16709
10/12 100m +0.0 +0.0 +0.0 +0.0 +0.0 +0.0 -0.7 -0.7
INRERTC E% yﬁ[s?xu—b IMAERTC =G AET At IMAERTC Righd%as TALFY IS I ity 2=7
INEOERXF Rt {EX6) 14”10|18t E15(6) 14”32 JII[]R 7585(6) 14774\ 5% FE(6) 14779 ]Il £Z(6) 14784 |RE38) | E75(6) 14”85(#AME #bF0(6) 14"99|=iH < A6) 15701
10/12 100m +0.2 +0.2 -14 +0.2 +0.2 -14 +0.2 -1.4
ity 17 EUSAERT R )b EEELE EUSAERT R )b thy 1=7 ST E EHITED EUSFEREEE
INE5-6EZTF |HF ER®G) 515791|2&R A#&®G) 517730 AR £iE(5) 534”9718t BE15(6) 5'38746| = & %ﬁ(a) 550723[iI#kER F(6) 552741[Fh%H £(@6) 5'58784|® FHE(6) 600780
10/12 1500m
EFEEE EIFFEiEE =3 + _ HIFARETAY-F = + =B A BT Y-t =1 Al=b b= i) o
INF4-5-6F |ZIEAPTA)-FA  57706|FE M 1=FA 58”86 | & I LA 58”87\ = mMkEELA 59"82| Kig#HhH 9 %55 1°00”31[/MAERTCA 1'00”35| = W5 #E[E LB 1'02”35|78thy 1278 102”752
SH REe6) A £E(6) =iE X£A6) EE ETH(6) o =) HE #506) FHE EHA4) Mk i)
10/12 4x100mR| #E K16(6) Wt 1EE(6) REHI B FE(6) JUR %28(6) WE #F00) dIE BHEEG) =R AEG) S #w1E6)
& 2R O FFE6) 5E &X06) CANTT=: ) HE BEx0) BH ZE() B4 #FG) JIEEIZ D 76)
HE 6 Il $Z(6) B jﬁé(ﬁ) B ER(6) w0 #5%5(6) & #HEF(5) FH ZAR(E) IBFF #3E(5)
R ERF FIRAEF() 13"44| 58| FE(1) 13"82|dh kT EZE() 13”88 ;I thF(1) 13794(5% L Z(1) 14707|FB1E KBE0) 14727\ 8011 #/FEQ) 14”30(;a[ 4 Fd2<(1) 14”31
10/12 100m +0.0 +0.0 +0.0 +0.0 +0.0 +0.0 -26 +0.0
ity a7 XiEd AEH = Fa = [ & =P 4B AEd
pEELZF [#HEAHPDQ2) 12°78(ILkE #kF(2) 12"95| RANICDA#(2)  12799|REF FH(2) 13"22| @ E=R(2) 13”51 EHE R &(2) 13760\ BBk RLF(2) 13762|BREVET=(2) 13763
10/12 100m ) +0.0 +0.0 +0.0 +0.0 +2.1 +2.1 +0.0 +0.0
Fith 17 Aigd AEH A R Xizd Kigdp H£BEG
, FE3ERT  |f@Rx BFIEQ) 12756(Z5F #UE®R) 12792|ff A& FLHE®) 13758| &R/ E&HQ) 13"79|[EAZRIEQ) 15708
10/12 100m
+1.9 Kigd E=1an =AM XiEd AEd _
hEHELF (8 BIE) 25787|1LfE #EF(2) 26792| KB EHM(2) 1M RB/NICDOAH2) 27792|HE FTHR(2) 28740|E B ALA(2) 28”45|ch 4 EZE(1) 28"57|8RE EE(2) 28782
10/12 200m -2.8 -2.8 -2.8 -2.8 -2.8 -2.8 -2.8 -2.8
Kigdp Xigd P2 AEH A4 Aigd =
AR REQ) 227770| &M () 229"34|BE EEN) 2'35768|#f1L  #A(1) 2'36722[#&H REX) 2'38”752|@AF HFZEX) 239755 B EX) 239757|HE EF0Q) 2'43758
10/12 800m
JE=1:a Kigsh FES Adich Jindw e R4 eh Kigd AdEich
EXR #3322 1053"60(ZM #%#FH(B3) 1053"62(EAK EEF(3) 1106790(J113F #BE@Q) 11267514 F DEQ) 1127735\ KA $HFEEQ@)  1128791|kA #£FE2) 1135761|80 EF(2) 1140765
10/12 3000m
Kigdp __ 4B Kigdp Algdh Kigd Xigd Kigdp 4B
KEPA 51717|FGithy 127 52"00| ASBrHA 5212/ KB 52"64|'= K@+ 53783| KIZHA 53795( 4 B Hh 54"37|EHBH 54”75
iE =20 HE FF(1) AH BEQ AR AhAR(1) X5 TEOQ Hi FTh(2) BNl 8BE0) nEE E0)
10/12 4x100mR| LUE HF(Q) FRAEF() XH FWQ) B BEX30) #BE FFE) BHEREQ) izl %(2) BEUE=(2)
E RAE2) EREBHF(2) HhHe Ex02) jt;’% ii(Z) BIE KR() WE F#%(2) ER ’f’*&(Z) IJ7708%%E(©2)
_ SH|_F20) HAHOD(Q2) H =HQ % A A B 5&_ 2(Q) 0 ZEE)
SREEZF (ILE 2EQ) 13709[/NHF E ) 13"14|h R (1) 13764 tﬂ:k%uﬁ%(z) 13"71|5M L B3£(2) 13789 BE @R(1) 13792| AR FFEH(2) 14701 [KIEMEF(2) 14705
10/12 100m 22 22 22 o H22 ) +2.4 +2.4 22 o H22
_ E 5 B FrbUY FAY=h = HIEAES EBRAES
WEs &EQ) 27758|# FHER) 28722| k&N :5%(2) 29"36| 2K =) 30738|F%IL #EXQ) 30783 )Il#&Eg 2 &(1) 30795
10/12 200m
+2.1 EIAES BEAES XES
FIFKESA 53756 auﬁxa.—ls 55738
TH S0 2% &0
10/12 4x100mR| HE  FE®) 2R #E®1)
HKEIZEF(2) BA FHER2)
KIEMEF(2) [FH R

3/4




TR2IFE Fe8EEEHRATRAZELHEREAR

#AH:20154 108128

RS EIETA B QHES N EREEE RS
HE[  ®H [ —  ifg

TFREB—E

147 3fi1 41 5{i1 641 141 8{s
—fHEEZF |RE REF 11'21725|8% /\YF
10/12 3000m
e AR
—fR29LI T & F |8RHE XIR 14734
10/12 100m
+1.6 =X
INES-6EZF (REFEIETE®6) 1mi5
10/12 E= bk
]
Rt fEZ6) 4m22|)I1TR WH K1E6) 4m02|;T#%E % F(6) 3m86| Kfa EE(6) 3m60[ L FETH(6) 3m47|fE@t BEG) IWFSLE5) 3m03
10/12 FE NS Bk -0.1 9 +0.5 +0.1 +1.2 +1.0 2 -1.2
Fithy 2=7 = FAY=t = UFAETRY - FEithy 2=7 S fmpEE TALTYY B =W ARET At
1o/12 EP%‘“—?%E%}_EE FAR FEQ) 1m47|EiE BE EXx02) 1m30 K& FE©2) L EIE-10)) 1m30| £ =&(0) 1m25[1IUE B 4<(2) EZH05(2) 172%
= m
=EAMES _ £Ho *%jcﬂﬂ%tb £Ho ____KEd tﬂﬁ[ﬁdﬂ FRiIIES
HEHOD(?2) 5m06|fB8 & EREHF(2) 4m59[ 77T REE(Q2) 4m53| FrIR AR EF(1) 4ma6 i TEEE L F() 4m37|KH BEQ) KiE EQ 4m32
10/12 FE NS Bk +1.3 +0.0 -2.2 -1.0 -14
Fithy 2=7 FEithy 2=7 HB&H FEithy 2=7 = Fa A A=
1o/12 _ 2l O) Im77|#EIL BT 1-10)) 9m22|)I[IEF % B 32(2) 8m63|FEH ETE(3) 8m53[;ZA E3U(2) 8m52| B E/EQ) RE B2FQ Tm94|
[
AEd ____FniIep XiEdh hnfk e EAHES Xigd XiEd
L N8 EmEQM) 28m43[h 1l REF HiRQ) 18m71
10/12 YN )yhAn—
__ AEH A AiEg
aREERT |[TH &3 1m40|#HE B#2(1)
10/12 E= bk
X8 K#A) 4m53|H R S EE ) 3m98| AT #EK(1) 3m94
10/12 ERBE 06 4 02 N 4
BI5ES EIRES EBAES
=0 fREG) 8m19
10/12 Fat % o
=n ApEQ) 27m17|# EHFZN)
10/12 LY _
=I5

4/4




